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1. A rational decisionmaker takes an action only if
a. the marginal benefit is greater than the marginal cost,
b. the average benefit is preater than the average cost.

c. the average benefit is greater than the average cost, and the marginal benefit is greater than the marginal cost.

d. the marginal benefit is greater than both the average cost and the marginal cost.

2. Comparative advantage is based on
a. absolute labor productivity.
b. relative labor costs.
¢. relative opportunity costs.
4. dolar price,

3. Suppose that a decrease in the price of X results in less of good Y sold. This would mean that X and Y are

a. complemeniary goods.
b. substitute goods.

¢. unrelated goods.

d. normal gﬂodé.

4. Internalizing a negative production externality will cause the suppty curve faced by an industry to

a. shift to the right.
b. shift to the left.

c. expand.

d. remain unchanged.

5. Tota revenue for all firms in an oligopofistic marketis ~ that of a monopolist.
. less than or equal to
b. greater than or equal to
¢. less than
d. greater than
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6. If the price of the final product increases, profil maximizing firms in competitive markets will

employment and marginal product of labor will
a. decrease, fail
h. increase, rise
c. increase, fall

d. decrease, rise

7. In a market economy, scarcity of resources is reflected in
a. supply
b. demand.
c. market prices.
d. the stock of the resource.

8. To decrease the money supply, the Fed would

a. buy governmeat bonds.
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b. merease the discount rate.

E

¥ = b

¢. decrease the reserve requirement.
d. both a and c are correcl.
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9. The notian that money supply changes will not affect real variables is called
a. the classical dichofomy.
b. monetary neutrality.
¢. ‘quantity theory of money.
d. fisher effect |

10. Whick of 1he following factors does not shifl the long-run agprepate supply curve?
4. populalion
b. capital stock
¢. technology
d. price level

11. Keynes argued that
a. AD is unstable because of unexpected changes in government purchases.
b. AD is unstable because of arbitrary changes in consumer and investment spending, v
¢. government ought {o actively use fiscal policy to offset private changes in AD.
d. both b and ¢ are comrect.

12, Which of the [vilowing is not true of the long-run Phillips curve?
a. It is vertical, :
b. It implies that monetary policy cannot determine the infiation rate.
<. It implies that the monetary policy cannot determine the l]niE.mpIi]}mem. rate in {he long run,
d. It implies that the patural rate of unermployment is determined by real factors.
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